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(1) 3.64 = 3+ 0.64
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® 8-2.111 = 5.889
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1 — 700 mL

9E — 700 x 9 = 6300( mL)

6300mL = 6.3 L

Ag 25 ANH 5 F: 63+ 7.8=141(L)
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A 240 GAlS B2 7] AAGE AL 124 Q.

(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
@(1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478

(1) 6.888 +4.721 + 3.019 = 11.609 + 3.019 = 14.628
(2) 11.809 + 7.89 + 1.666 = 19.699 + 1.666 = 21.365
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1000m = 1km
1570m = 1.57km
1.46 + 1.57 + 2.1 = 5.13(km)
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8] $AE 8.52kg AUITh, S5 FAL o] AR 2500 o
5341, B2 B 359 At 6535 & FPESUT B2
SAL 9 g AA] FHAL,
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[> HE . 10457kg

2590 g = 2.59kg, 653 g = 0.653kg
(S50 2A)= 8524259 =11.11(kg)
(FZo FA)=11.11 — 0.653 = 10.457(kg)
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(100 972 T4 27])= 4.87 + 4.87 = 9.74( g)
(50972 T4 370)=3.9+3.9+3.9=11.7(g)
11.7-9.74 = 1.96( g)
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@ 0.38 +0.84 = 1.22

© 1.84-0.17 = 1.67

© 0.47 + 0.5 = 0.97

® 1.9-0.62 = 1.28
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2.875 =2+ 0.8+ 0.07 + 0.005

3.0683 = 3+ 0.06 + | |+ |

@ 0.8,0.03 @ 0.8,0.0003 ® 0.08,0.0003

@ 0.008,0.003 @0.008, 0.0003

A A7) 7] A7} 0 ol B2 UrEhfiA] ghob Hy T
3.0683 = 3 + 0.06 + 0.008 + 0.0003
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D 9.203 < 9.204 @ 0.963 > 0.059
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Aol B3 919 B8 05 L7kl K100 715 et v,
JulA g BE ohAsU 5L s00mL A 7o wetEe op

o, Ag =Xl Ad 22 2 LA FHAL

» & L

S0l oAl Eo] oF 1 800 + 2 = 400( mL)
wahA 400 mL = 0.4 L

SHgol7h kAl 29 & 1 0.5L

g 21 Ad =2 F 1 05404 =09(L)
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1kg =1000g

(B9 Hho] BA)= 11 - 6.525 = 4.475(kg)
(E5°l EoUe= &9 FA)

= 4.475 + 4.475 = 8.95(kg)

(BT 2= 11 - 8.95 = 2.05(kg)
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